SPARE PARTS / OPTIONAL PARTS / /\—YUXk

SPARE PARTS / A7 /\—"

ACNE
Part Names

AE (F—No.& A%)
Description (Key No. & Qty.)

*: FOR JAPANESE MARKET Ol

=V

Part Names

AR (F—No.& A%)

Description (Key No. & Qty.)

FyITVTIST—Eyh(II—TFav/(—20) | )@@ @) x1 2S5 7(S/75vY)

B0132:078 Kickup Rudder Set (WAVECHOPPER2.0) ©@®x2 1700BK Strap (S/Black) x18
3x10mm TPEX 70707 | BP0V FACYU—XE—5— Gl4LY> YL @x1
3x10mm TP Screw 550 Class G Series Motor G14L Single
3x10mm Fvy7ER Syncro KR-331 {5t
3x10mm Cap Screw 82135 Syncro KR-331 Receiver X1
3x20mm Fvy7ER gooas | KAOBO-9TWC IS5 E—4—FI5KESC 60A 757 @x1
3x20mm Cap Screw KA060-91WC Waterproofing ESC for Brushed Motor 60A S Prug
3mm Fvhk H—7R KS4031-06W
ammNut X' 82274 | SERVO KS4031-06W x1

A (D T—TFa3v/(—2.0) ZFy7EY (105 A)
B0211-19 | 5o ire (WAVECHOPPER?2.0) x1 92638 | 5 ap Pin (10pcs) x10
AmmTvyaty b (EPY v AU —LA600) dI—R7=Y (45 A)
B0132-20 | 4 1 Bush Set (EP JETSTREAM600) @x2 @©x4 941050 | 04 Boots (4pcs) @) x4
g It =5 =7 KLY (4 AN/EPY Ty hAN)—1600) J—R7—=Y 14mm (45 A)
BO132-23B| \\ater Outlet (4pos/EP JETSTREAMBOO) x4 94107 | cord Boots 14mm (4pcs) @x4
A= —Ivvhk 38mm(RCH—77—3) E—H—I3—04>hk 3.18mm
BOT08-21 | - ter Jacket 38mm (RC SURFER 3) @t 942310 | \1t0r Joint 3.18mm @x
ZO~Z D31xP1.4(2fEA) 3x3mm Y hER
BPP431 Propeller D31xP1.4 (2pcs) ®X2 3x3mm Set Screw
OV P15(FZv /445 N) Bk V7T
ORG15 O Ring P15 (Black/4pcs) X4 94752 Waterproofing Tape X1
M3.0NY RT3 v —(FIL—/44 N) AmmpEKI T
Wo148 M3.0 Head Washer (Blue/4pcs) x4 947538 4mm Waterproofing Ring ®X5
BT LFITILT—Y (L)
94852D | \yterproof Flexible Boots (L) D2
ZRy Y 7—7(1x100x150)
964418 Sponge Tape (1x100x150) @xt
Fv hOEBRD—EBICIF AT /=Y EULTRFLTRVWEDNHBD ET,
RATEATY 3V N—YERFTUTVWETOTREENRHES L,
Some of the parts included are not available as spare parts.
Purchase optional parts instead.

OPTIONAL PARTS / A 7> 3 > )X—Y

%: FOR JAPANESE MARKET ONLY.

mE =Y RAE i =% RE
No. Part Names Description No. FEURNEES Description
71320 KYOSHO SPEED HOUSE 7.2V 2200HV N{MH/\“v?U— Eu“ji]?{7’Ni-M_H/\"y?U— 96161 t‘y_?»r‘/?‘"jlfr ~ EMEBFERVIAS
KYOSHO SPEED HOUSE 7.2V 2200HV NiMH Battery | High power type Ni-MH battery. Setting Weight 60gAD
71324 | KYOSHO SPEED HOUSE 7.2V 3600HV NMH/UY7)— | XA E. Bitih 57 Weight for adjusting boat's
KYOSHO SPEED HOUSE 7.2V 3600HV NiMH Battery | Ni-MH/ {7 — running posture (60g).
High capacity and high power op1asBLSG| D7 YYAYF2—T (2.3x1000 T—/ZE—07L—) ERMU TR,
type Ni-MH battery. Color Silicone Tube (2.3x1000 Blue/Smoke Gray) | Instead of @).
79202 USB 5V-2.0A AC7% 7% —(100-240V/10W) | BAENEA
USB 5V-2.0A AC Adaptor (100-240V/10W) For Japanese market only

¥ —ER/N—VERFTE L TWRWI—YhH D £T,
Zz0HE. RBE/N—YRENTAZINTVNET,
Note that some parts are not sold as spare parts!
Einige Teile sind nicht einzeln erhaeltlich!.
Attention ! Certaines pieces ne sont pas vendues au détail.
Algunas piezas no se venden por separado.

¥ ART AT 3 VIR~V ERIAWEBY 1 hEoB< Ry, [EpkaE
Please see the website for spare & option parts prices.

www.kyosho.com [5]*

34



	WAVE CHOPPER 2_0_p01_out
	WAVE CHOPPER 2_0_p02_out
	WAVE CHOPPER 2_0_p03_out
	WAVE CHOPPER 2_0_p04_out
	WAVE CHOPPER 2_0_p05_out
	WAVE CHOPPER 2_0_p06_out
	WAVE CHOPPER 2_0_p07_out
	WAVE CHOPPER 2_0_p08_out
	WAVE CHOPPER 2_0_p09_out
	WAVE CHOPPER 2_0_p10_out
	WAVE CHOPPER 2_0_p11_out
	WAVE CHOPPER 2_0_p12_out
	WAVE CHOPPER 2_0_p13_out
	WAVE CHOPPER 2_0_p14_out
	WAVE CHOPPER 2_0_p15_out
	WAVE CHOPPER 2_0_p16_out
	WAVE CHOPPER 2_0_p17_out
	WAVE CHOPPER 2_0_p18_out
	WAVE CHOPPER 2_0_p19_out
	WAVE CHOPPER 2_0_p20_out
	WAVE CHOPPER 2_0_p21_out
	WAVE CHOPPER 2_0_p22_out
	WAVE CHOPPER 2_0_p23_out
	WAVE CHOPPER 2_0_p24_out
	WAVE CHOPPER 2_0_p25_out
	WAVE CHOPPER 2_0_p26_out
	WAVE CHOPPER 2_0_p27_out
	WAVE CHOPPER 2_0_p28_out
	WAVE CHOPPER 2_0_p29_out
	WAVE CHOPPER 2_0_p30_out
	WAVE CHOPPER 2_0_p31_out
	WAVE CHOPPER 2_0_p32 EX_out
	WAVE CHOPPER 2_0_p33 EX_out
	WAVE CHOPPER 2_0_p34 PL_out
	WAVE CHOPPER 2_0_p35_out
	WAVE CHOPPER 2_0_p36_out
	WAVE CHOPPER 2_0_p37_out
	WAVE CHOPPER 2_0_p38 kounyuu_out
	WAVE CHOPPER 2_0_p39 FAX_out
	WAVE CHOPPER 2_0_p40_out



